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Table 5.4 Conduction shape factors: Q = S kAT, Ry = 1/(kS).

Situation Shape factor, S Dimensions Source
1. Conduction through a slab A/L meter Example 2.2
2. Conduction through wall of a long 2m
thick cylinder I (ralT) none Example 5.9
3. Conduction through a thick-walled 4711 (vo7i)
hollow sphere -1, meter Example 5.10
4. The boundary of a spherical hole of
radius R conducting into an infinite
medium
. Problems 5.19
%‘. ; 41R meter and 2.15
///,
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7 i s I
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(two-dimensional conduction) cosh™! (h/R) none [5.16]
7. An isothermal sphere of radius R
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plane; R/h < 0.8 (see item 4)
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